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Part One: Vocabulary and Grammar (40%)
Here are 20 incomplete sentences. For each sentence, choose one answer that best

completes the sentence.

1. Before discussing the procedures in detail,

a.

b
c.
d

a general principle should be laid down

. 1shall like to lie down the general principle

I'd like to lay down a general principle

. ageneral principle lies

2. The more trees, rivers, birds and animals we are surrounded by, the

more that environment will be for our health.
a. Advanced
b. Beneficial
c. Improved
d. Valuable
3. The rewards that you will get in this job is directly to the effort you put
in.
a. percentage
b. proportion
c. method
d. compensation
4. Could it be there is a single to all of those problems you described?
a. solution
b. example
c. resolution .
d. explanation



B RS 110 &5 ZA L H ANZRA

hArPEa ] ¢« NEREFR AT
ZEAE (RAH) 1 HEX(4303)
#_ 5 Fo%_2 B uE (555143

5. “How do you know that he was hungry?” “He stopped to his friend in
order to eat lunch.”

a. writing

b. to write

c. from writing
d. to writing

»

6. “I hope John will recover from his illness soon,” “Yes, | .
hope it too

hope too

hope so too

hope that too

o 0 oo

7.  “Why don’t you like John?” “I dislike him telling old jokes.”

hearing
hear

for hearing
by hearing

.0 TN

8. “Pass me the butter, ?” “Yes, with pleasure.” :

would you
wouldn’t you
won’t you
will you

o0 T ww

9. “Did you criticize Susan for her mistake?” “Yes, it.”

I’d rather not have done
I'd not rather

I'd better not do

I'd rather not doing

0 0 oo
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10. The use of radar as well as two-way radio for the police to intercept
speeders

make it possible
mabkes it possible
makes possible
make it a possibility

2.0 T o

11. Even though they ___- for thirty years, the two neighbors are not very
friendly.

having been lived side by side
had been living side by side
have been living side by side
having been living side by side

o0 o

12. But for his help, |

a. should not have succeeded
b. had not succeeded

c. did not succeeded

d. have not succeeded

13. Recent archaeological studies indicate that Jonesville was established by A.D.
1100, making it the oldest continuously occupied village in Ohio.

however
and

thus
when

o0 oo

14. California relies heavily on income from fruit crops, and

Florida also
Florida too

so does Florida
Florida is as well

po T oW
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15.

16.

17.

18.

19.

#£_ 5 R-H 4 R *Ha (555 FI1HE

It seems very difficult

to stop the baby cries
restraining the baby to cry
to keep the baby from crying
holding the baby’s crying

o0 T o

Rather than debating whether to cut or raise tax, Congress should on
making sure that the government taxes the right things.

a. consider

b. concentrate

c. regard

d. adjust

The concept, though hard to explain in words, is fairly easy to using a

mechanical model.

a. illustrate
b. reply
C. suppress
d. implicate
Some people believe that military technology has great in civilian
use.
a. potential
b. creativity
c. possible
d. reason
Florida has not yet ratified the Equal Right Amendment, and

several other states has not either
neither has some of the other states
some other states also have not either
neither have several other states

o0 oo
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20.“Does your father like to play golf?” “Yes, he is enthusiastic it.”

by
with
about
on

0.0 T W

Part Two: Translate the followings into Chinese (30%)

1. Some functionalists argue that a cultural practice will not persist unless it fulfils a
function for that culture. There are numerous customs that exist of have existed,

however, that have no apparent reason behind them.

2. Urban dwellers in almost any part of the world tend to look down on peasants as
unsophisticated country bumpkins. This is often the case, even when the urban

dwellers themselves are former peasants.

3. During much of the twentieth century, most anthropologists assumed that they
had little to gain from studying Karl Marx. Nearly all of his writing focused on
industrial capitalist societies, while anthropologists typically studied non-

capitalist societies.

Part Three: Translate the following three Chinese sentences into English
(30%)

1. BIERATRIL - GENHENIIE - BUSIEEE) » TEMFERRAREELES
HIGFREOE BB IR 2R -

2. FTRAGNER - SENLEAPRRIEERARILER -

3. BEREREAB—FIAGNAE  FRAREENE - THA  FARAEE
BN SRR -



